Outline Notes
Supply Side and Long Run Equilibrium

Goal of supply side economics is to shift the aggregate supply curve to the right. A rightward shift in the aggregate supply curve causes gdp to rise, unemployment to fall, and inflation to fall.

How can the supply curve be moved to the right?

The cost of doing business has to be reduced. 

How can the government reduce the costs of doing business?

The government can not control wages or set wages for certain occupations, but the government can open trade, be lenient toward illegal immigration, support right-to-work states, or hold minimum wages low. The government can keep wages low for state and federal workers (about 30 percent of the work force). Any of these policies can keep wages in check. 

Other short run supply side policies include: lowering corporate tax rates, providing investment tax credits, providing land, tech schools, or other incentives to promote business growth within the government’s borders. 
Most of these policies have short term effects.

Solving the problem of stagflation. 

Perhaps the best use of supply side policies is to solve the problem of stagflation. 
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Is there an equilibrium in the labor market? In other words, if left alone would the market naturally adjust back to some level of unemployment and employment?

The Long Run

1. The natural rate of unemployment 


NAIRU – Non-accelerating inflationary rate of unemployment
The Natural Rate of Unemployment and the Business Cycle

Is there a rate of unemployment and level of GDP growth that the economy will adjust back to naturally after it is moved off-track?

If the answer to this question is “yes” then there is no need for fiscal or monetary policy, except to make short-term adjustments.

We just spent weeks going over the impacts of government spending, taxes (business and personal), and money supply changes on the economy. Are we to think these tools cannot impact unemployment or GDP?

A Classical economist would say none of the tools should be used to fine tune the economy because their benefit is only temporary. For example, an increase in government spending will be followed by an increase in taxes. The increase in taxes will decrease disposable income and consumption. In essence, the increase in government spending simply crowds out consumer spending. G increases, C decreases, and GDP stays the same. What about an increase in the money supply? A Classicalist would say, all an increase in the money supply will do is increase prices; it has no effect on GDP.

How can the economy naturally adjust? 

Prices and wages are flexible.

If the economy is doing poorly then prices will fall, and wages will fall. When wages fall, the demand for labor increases, more workers get hired. More workers lead to more spending. More spending, or C, stimulates the economy and pushes everything back to its original (or natural) level. 

Are wages and prices flexible? They are getting more and more flexible as time and technology press on. MPL pay versus APL pay. 
2. The neutrality of money – money growth and inflation, no real changes, just nominal changes

3. The natural adjustment process.

Price flexibility and wage flexibility. The faster prices and wages adjust the quicker the natural adjustment process. 
Supply side policies 

4. Productivity shifts the aggregate supply curve permanently

What is productivity?

Output per person employed

How is productivity measured?

Total output within an industry or firm divided by the number of workers

How does productivity impact wages?

They should go hand and hand, the more productive the worker the greater the pay. If a person mows three lawns a day and the price of mowing a lawn is $40, then the person’s pay is $120. If the person becomes more productive and starts to mow four lawns per day, then holding the price per lawn at $40, his/her salary rises to $160. Therefore, in an efficient world the increase in productivity should increase wages. 

How should productivity affect prices?

An increase in productivity, increases output per worker. Holding wages constant, the cost of producing a unit decreases

How should productivity affect profits?

Profits should rise

How should productivity affect international trade?

Countries that employ a productive workforce, coupled with the low wages, have a competitive advantage 

How should productivity stock prices?

If corporate profits rise, stock prices should rise

What really happens? Throw away the theory and look at the reality.

In the 1990s labor productivity increased by more than it had in decades. This increase should have increased corporate profits, and raised stock prices. But instead of corporate profits rising significantly, the beneficiaries of the increase in productivity was the workers.

This increase in wages caused consumer spending to grow. In short, workers benefited from the gains in productivity with higher wages – which has led to the strong spending. Businesses did not generate more profits either because of the higher wages paid to workers or because competition has caused prices to decrease. 

The last recession resulted in an increase in worker productivity
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Macroeconomic consequences of increased productivity. The same number of workers can produce more goods, therefore the GDP can grow at a higher rate without inflation rising. Potential GDP rises. In the goods market, the long run aggregate supply curve shifts to the right. 

Why couldn’t the increase in wages push prices up and the supply curve to the left? Companies are not able to raise prices because of international competition. Foreign companies lower their prices.

Overall an increase in productivity helps our economy. Technology also helps workers to be more productive. Workers perform better because they have better equipment/ resources to help them. The technology helps lower costs, but raises expenses.

5. Free Trade agreements. 

6. Lowering businesses taxes – providing tax subsidies 

If businesses pay less in taxes, the hope is that they will (1) either earn more profit or (2) charge lower prices
What will businesses do with their additional revenue?

a. Hire more workers

b. Invest in more capital

c. Profits for stockholders

d. Lower prices for customers

What are the pros and cons of each of these options?

Outline/Summary

The aggregate supply curve.

Q = f(K,L)

The supply side is necessary to accommodate the demand side.

There is a long run supply curve and a short run supply curve.

The long run represents a theoretical level of output based on the production possibility frontier (PPF).  It provides a basis for what society can produce if all of the resources (Land, labor, capital and entrepreneur spirit) are used efficiently.

If the society uses too few of their resources (they operate on the interior of the PPF) then there will be higher unemployment rates, lower GDP, and typically lower inflation. 

If the society uses too many of their resources, then inflation will creep into the economy – typically through higher wages.

If society uses the appropriate amount of resources then it will be at a point referred to as “Full employment GDP” or the “natural rate of unemployment, NAIRU” or we could say, actual and potential GDP will be equal.  

What shifts the long run AS curve?

Structural changes – permanent 


Trade policies, union activity, tax policies, health care laws, productivity advancements

There is also a short run AS curve.

What causes the short run AS curve to shift?

Temporary/ one time changes.


Wage increases, investment tax credits, oil price changes

In an aggregate demand / aggregate supply model… 

What happens when the AS curve shifts?

